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'?erobic oxidation of D-Glucose yield more entry than anaerobic

y discuss the regulatory mechanism ofthe followinS:

glycolytic s€quence

Fatty acid biosynthesis

ned to acetyl coenzyme A,

would be the total number of ATP molecules.generated from one molecule

itic acid if all the acetyl coenzyme A generated was o*dized via the tri
ivlia acid {IcA) cycle (explain all your calculations).

y explain how the oxidation of unsaturated fatty acids differ from the

of saturated fatty acids.

e how the Pentose Phosphate Pathway can supply ribose-s-phosphate for

esis of RNA.

examples, describe the svnthesis ofsugars from fatty acids.

inhibitors in foods of plant origin?

ation reactions in the biosynthesis of amino acids.


